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1. EXRBEERIA 4,000 4,000 0 0
2. =BIRA 2,550,000 1,300,000 0 1,250,000
3. MHURA 721,100 721,000 100 0
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1. BZEE 3,950,000 1,250,000 50,000 2,650,000
2. BIEE 1,528,000 825,000 3,000 700,000
3. BAE® 100,000 100,000 0 0
HHEAST &St C 5,578,000 2,175,000 53,000 3,350,000
HHAUNST =%A A-C -202,900 -150,000 -52,900 0
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1. EXEERE 4,000 4,000 0
EARIEFBUXA 4,000 4,000 0
2. =BIRA 1,300,000 1,400,000 -100,000(% 1
3. HEUNA 721,000 666,000 55,000
ZEFIR 1,000 1,000 0
EEHEINA 20,000 65,000 -45,000|% 2
MEESARGEUNA 400,000 300,000 100,000(x 3
BRI 300,000 300,000 0
4. FFEIA 0 0 0
5. FERNFRISFHRARINA 0 0 0
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BTHAGERN ST %R 1,123,915 1,405,184 -281,269
INAAET B 3,148,915 3,475,184
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1. BHEHE 1,250,000 1,800,000 -550,000
FRERITE 1,150,000 1,800,000 -650,000(*% 4
ZEBIERE 0 0 0
REE 50,000 0 50,000(|x 5
BEERE 15,000 0 15,000
SHRERE 5,000 0 5,000
PRy N 30,000 0 30,000
2. BIEE 825,000 790,000 35,000
HERlFS 600,000 600,000 0
E=Y 10,000 30,000 -20,000
E= 20,000 50,000 -30,000
REXBE 80,000 30,000 50,000(x% 6
BEERE 35,000 60,000 -25,000
SHFEmE 30,000 10,000 20,000
Sfan 20,000 0 20,000(x 7
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ME 10,000 10,000 0
3. FENRIEEHEAS 100,000 100,000 0
FRFHEIE 100,000 100,000 0
LA HEET C 2,175,000 2,690,000 -515,000
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1 MUNA 100 10 90
ZHFIE 100 10 90
2. BfEUIA 0 0 0
HHANASET A 100 10 90
BIHAFEHIN A Z & 2,960,196 3,001,501 -41,305
N A & 5t B 2,960,296 3,001,511 -41,215
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1 SEE 50,000 50,000 0
F¥FREE 50,000 50,000 0
2 EiEE 3,000 6,000 3,000
BEEMRE 2,000 5,000 3,000
EHE 1,000 1,000 0
YHizHast C 53,000 56,000 3,000
WHANSZ ZZE  A-C -52,900 -55,990 -2,910
RERRR BN Z%E B-C 2,907,296 2,945,511 -44,215
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6. FEUNA 0 0 0
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